NR STUDZIENKI D33a D33 D34 D35 D36 D37 D38 D39 D40 D41 D42 D43 D44 D45 D46
Proj. rz edna wiazu A 89,60 89,82 90,04 90,34 90,43 90,59 90,98 91,12 90,24 90,45 90,63 90,56 90,46 90,10 90,21
Proj. rz edna dna kanatu B 87,85 88,04 88,28 88,54 88,81 88,96 89,26 89,45 88,42 88,52 88,64 88,72 88,84 88,45 88,50
Proj. rz edna dna studni  C 87,76 87,95 88,19 88,45 88,72 88,87 89,17 89,36 88,33 88,43 88,55 88,63 88,75 88,36 88,41
Grubo $¢ scianki kanatu s[m] 0,04 0,04 0,04 0,04 0,04 0,04 0,04 0,04 0,04 0,04 0,04 0,04 0,04 0,04 0,04
Wysoko $§¢ H=A-C 1,84 1,87 1,85 1,89 1,71 1,72 1,81 1,76 191 2,02 2,08 1,93 1,71 1,74 1,80
Wiaz @610mm  h=140mm 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
Zwezka (1000/600mm
h=600mm 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
Dennica ¢1000mm
h=600mm 1 1 1 1 1
h=850mm 1 1 1 1 1 1 1
h=1100mm 1 1 1
Krag ¢1000mm
h=250mm 1
h=500mm
h=750mm
h=1000mm
Pierscienie dystansowe
h=60mm 1 2 2 2 2 1 1 2 1
h=80mm 1 1 1 1 1
h=100mm 2 2 3 3 1 3 2 1 1 2 4 4
KANAL WYCHODZ ACY
DNo @m]| 0,30 0,30 0,30 0,30 0,30 0,30 0,30 0,30 0,30 0,30 0,30 0,30 0,30 0,30 0,30
rzednadna| 87,85 88,04 88,28 88,54 88,81 88,96 89,26 89,45 88,42 88,52 88,64 88,72 88,84 88,45 88,50
KANALY DOCHODZ ACE
DN, @m]|0,20wp1l| 0,30 0,30 |0,20Wp38| 0,30 |0,20Wp39|0,20Wp40| 0,20P25 |0,20Wp42|0,20Wp43| 0,30 |0,20Wp44|0,20Wp45(0,20Wp47| 0,30
rzednadna| 88,05 88,04 88,28 88,68 88,81 89,01 89,31 89,50 88,66 88,87 88,64 88,98 88,89 88,50 88,50
a,[°] 270 180 90 66 140 100 90 90 90 90 180 90 140 90 202
DN, @m]|0,20Wp12 0,20P9 0,30 0,30 0,30 0,30 0,20P36 | 0,20P44 0,30 0,20P56 0,30
rzednadna| 88,05 88,68 88,54 88,96 89,26 88,42 88,57 89,06 88,72 88,89 88,45
a,[°] 90 132 139 180 180 180 279 270 180 270 180
DNj @m]| 0,30 0,30 0,30 0,20Wp46
rzedna dna| 87,85 88,28 88,52 88,50
;] 180 180 180 270
DN, @m]
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